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T -1/ PART -1

[3]

[A]

91 fa 9 [3Ensme/CHILD DEVELOPMENT AND PEDAGOGY
3% : =it goal & Gav 37 & [ qae afEd ey g

Direction : Answer the following questions by selecting the most appropriate option.

1.

frfafeg § § S9-91 SUHE & S
T 78§ 7

(1) uRfw feemy g

(2) T srae

3) ‘RE 4 B’ a1y

@) FRE sg/ed oy

F T e TR TR 71 e § 7
(1) 209 25 2) 209 9=
(3) 259 36 4) 369 51

frefafe & @ @A fae
AEINTIGRTT &l TpT & o 78
T B 7

(1) 9MvT% &9 8 9999 QX dh &
FAER Bl WG

(2) gEioTs ®1 & |G e @
HET

(3) |HISTS AT & foehr

(4) MBS FIER

g% M ThH THR S FEROCE b,
TIAe, IO 3 B UM S ®,
e & ?

(1) Tierhl i
2) i+ s

(3) dfpeh-TMT i
(4) &0 g
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1.

2.

Out of the following which is not the
other name of childhood ?

(1) Elementary school age

(2) Smart age

(3) Pre-gang age

(4) Gang age

What is the approximate 1.Q. range of
'‘Mangolism' mentally retarded children ?

(1) 20to 25 (2) below 20

(3) 25to 36 (4) 36to 51

Out of the following alternative which
does not come under processes in
socialization ?

€]

learning to behave in
approved ways

socially

2

playing approved social roles

3)
“)

development of social attitudes

egocentric behaviour

A type of intelligence which is mostly
visible in dancers, athletes, surgeons
etc., is known as what ?

(1) Bodily-kinesthetic intelligence
(2) Spatial intelligence
(3) Logical-mathematical intelligence

(4) Musical intelligence

P.T.O.



[A]

frr & @ @9-a1 daos g ® a«
7 &

(1) Jerft arvean

(2) STTH-SARMIRET

(3) Wl
(4) G I GeEIed BT

U el g ® B} SN W §s =
S99, A, 9%, JgeT S & SR
W 0% T 9= e & HEed 9y |
5 TR & S B T FeT S 8 7
(1) HarTees diET

(2) ey g

(3) TEHEHHS e

(4) eI HiET

e & @ $i9-a1 a6fes e
g wheT 78 B ?

(1) et der aderr

(2) STt STEHl TETT

(3) fareern e

@) [\ MR A

SIThISR & s & offan FEq
A Ra g & fFa aRRafos d=
% &I & ?
(1) HrEshIa=
(2) Hhra=
(3) "=
(4) T

Fled & ogER A e @ @
T ofaen EH PR @R oot
A # aaHM H safad @it
qevSl afeEr et @ e &7
H Sfeehar @ BTG STaRT T T B 7
(1) A F JF TR &

(2) Afcerdr F TEREET &

(3) Aferpa F U TEREE &Y

(4) Sfywar # W /WREG &R

Level-2/4207

[4]

Which of the following is not an
element of emotional intelligence ?

(1) Entrepreneurial competence
(2) Self-motivation

(3) Empathy

(4) Handling relationships

A student learns new concepts such as
'Carnivorous animal' on the basis of
words known by him such as tiger, dog,
lion, leopard etc. This type of learning
is known as what ?

(1) Combinational learning

(2) Subordinate learning

(3) Correlative learning

(4) Superordinate learning

Out of the following which is not the
type of group non-verbal intelligence
test ?

(1) Army Beta test

(2) Army Alpha test

(3) Chicago test

(4) Revence progressive matrices

According to Bronfrenbrener, law and
customs are examples of which of the
following ecological system of child ?
(1) Micro system

(2) Macro system

(3) Meso system

(4) Exo system

According to Kohlberg "a stage of

moral development during which
individuals judge morality largely in
terms of existing social norms or rules"
is known as which level of morality ?
(1) preconventional level of morality
(2) conventional level of morality

(3) postconventional level of morality

(4) unconventional level of morality



10.

11.

12.

13.

14.

I U B BROT TG B -
(1) RS I

(2) T

(3) STEA

(4) e =R e

frefafeg & @ @M@ G R
et 7ef & °

(1) Jgesy

() FEies

(3) =&

(4) Gy e

frfofag & @ -1 ey o9 e

N Ve YA EfhAT  TeRr” bl

frQrar i gt & °

(1) S== § ‘GRO-99E g’ T ‘a8
® wWiyE g fer et
BT |

(2) Sh H G % fOEid & owa
HTT, T am &1 e &N

(3) SITh oYY URAST & Hidae @9 §
T ST YT 8 |

(4) e farl & A aew a9m 8§
e B

H-GT SRR HT Gk & & 7

(1) STEaggday  (2) TE<Iayfd

(3) G (4) wicared

AfrdE THES H e fafy ®

(1) e

(2) W&

(3) AT

(4) STeT-FERRe
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[5]

10.

11.

12.

13.

14.

[A]

Which is not the cause of delinquency ?
(1) Physical defect

(2) Poverty

(3) Failure

(4) Proper home environment

Out of the following which is not
related with 'Cognition' ?

(1) Perception

(2) Thinking

(3) Walking

(4) Concept formation

Out of the following which alternative

shows characteristics of "Concrete

Operational Stage" given by Jean Piaget ?

(1) Development of idea of 'cause-
effect relationship' and ‘'object
permanence' in children.

(2) The child gains understanding of
principles such as conservation
logical thought emerges.

(3) The child begins to represent the
world symbolically.

(4) Becomes capable of creating
several forms of logical thought.

Which is not the component of
motivation ?

(1) Needs (2) Rote Memory
(3) Drives (4) Incentives

Direct method of personality adjustment
is:

(1) Sublimation

(2) Projection

(3) Regression

(4) Removing of hurdles

P.T.O.



[A]

15.

16.

17.

18.

19.

20.

s faeE & CFEST s
e’ @t fhae awartaa fear ?

() 99 IS (2) d9 aEieeh
(3) Vo THo T (4) Plewsd

‘T gEMSl B QEAdl [ HHRD
T | aRad w0 el 8 7
(1) STHATETT  (2) FHIISEBO
(3) HYHBT  (4) HTEA

N i 3 Homew fawm 3 fg

TS H AT F -

(1) & & % A & ©N oo
RN B

(2) F® I B & ufd 99 a we
foepféra @] |

(3) & o 7 #H WRA B AT |
U9 1 99 T9NH |

4) A B e Bl & ufa e
701 R & |

I SIS T i T & 7

(1) 28 6 a9 (2) 67 12 a9
B) 4377 (4 11¥15a

Tdo Elo 3Eo SRR g % Jadd
B ?

(1) aaﬁi‘l?’l

(2) e

(3) W TG A

@) fwd

g6 g g & U R g=m @
T feRar T ot ?

(1) st AR ewan

(2) TENfEE TS e

(3) ey MR e

(4) T=1 AR S

Level-2/4207

[6]

15.

16.

17.

18.

19.

20.

Who proposed "Sociocultural Theory"
of cognitive development ?

(1) Jean Piaget (2) Lev Vygotsky
(3) J.S.Bruner (4) Kohlberg

"Incorporation of new information into
existing mental frame works" is known
as what ?

(2) Accommodation
(3) Equilibration (4) Organisation

(1) Assimilation

For the emotional development of his
pupil the teacher should :

(1) Try to usurp the place of pupil's

parents.
(2) Develop love and affection for his
pupil.
Take a loveable attitude towards
the mischief of the pupil.

3)

Show favours to few selected

pupils.

“)

What is the age group of late childhood
stage ?

(1) 2to 6 years
(3) 4to 7 years

(2) 6to 12 years
(4) 11to 15 years

Who was the propounder of N. D. L
motivation formula ?

(1) McDougall

(2) Hilgard

(3) Blair and Jones

(4) Maslow

Which word was used by Thurstone for
intelligence' ?

(1) Primary Mental Abilities

(2) Universal Mental Abilities

(3) Neutral Mental Abilities

(4) Higher Mental Abilities



21.

22,

23.

24.

25.

frfafag & § @98 Tafafveas @
femdt & welEcE/AedRe T B
S 78 T S " ?

(1) g R

(2) sAfrgfT T g

(3) GO IS

(4) TreTEE faw

T B B 1 I 1 1 T B 51 e
fros BT @ TR 7

(1) e (2) FHed

(3) UEETErel 4) <

“grTh B JE GEE 6 IR 9 fRAl o
d, @ off SHH @ # [T el SEem”
IR B T THR B TIH B T Bel
ST 8 7

(1) fT gea

2) T Reran

(3) T Graar

4) T wiessd

feell & e * T GEM @
e [h8 T H Tedish FHoal © ¢
(1) |aq e

(2) I g

(3) STE (1) TG (2) Il

(4) U (1) T (2) & &

Fret & @ Si9-d e g 78 8 7
(1) dEe=

(2) g

(3) N ==

(4) el
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[7]

21.

22,

23.

24,

25.

[A]

Out of the following which activity/area
may not be considered as co-scholastic
aspect of learner ?

(1) Social skill

(2) Attitude and values
(3) Creative skill

(4) Curricular subjects

The first psychological laboratory was
established by whom ?

(1) Galton (2) Cattell
(3) Pestalozzi (4) Wundt

"Children's understanding that their
gender will not change even if they
adopt the behaviour, dress, or hairstyles
of the other gender". This type of
children's understanding is known as
what ?

(1) Gender identity

(2) Gender stability

(3) Gender consistency

(4) Gender stereotypes

Assessment of all-round development

of the child's personality is known as
which type of evaluation ?

(1) Continuous evaluation

(2) Comprehensive evaluation
(3) Above (1) and (2) both
(4) Neither (1) nor (2) above

Which of the following is not a defence
mechanism ?

(1) Identification
(2) Compensation
(3) Rationalisation

(4) Association

P.T.O.



[A]

26.

27.

28.

29.

30.

‘Sfc | fF@ & M & 9% AR |
ST & SN e foepreTe orawen @l
fQwar & ?

(1) G- STaeen

(2) U4 Gk ST

(3) o HRkAHE e

(4) SNveniie dGfpares Srawe

M 1 98 VR o foEmi § ©
SRR G HerEr § Y fEw A
g FEH @ SGFd g dE @S
YT &, B P Fed € ¢

(1) TEH GE

(2) refgel e

(3) eAfmree Hies

(4) YT HE

frfafed & @ #9-1 3R a0 9ed
o &Y o= 1 3 X & 7
(1) HEeiEs GorleHe

(2) IUIEH GoITcHD

(3) ARG gD

(4) STfashrll GoTeHen

frfafag & @-ar FeReen & o

T 78§ 7

(1) FreEmEe e NeEen & &9 &
RIREIR]

(2) TS STae

(3) ¥, q9E AT [T @ oTaw

(4) T orae

B HEN @ Qe ®
(1) Hessiaan

(2) STAGE™E § FH

(3) HameH SARerRar

(4) A et

[8]

26.

27.

28.

29.

30.

'Out of sight out of mind is
characteristic of which of the following
developmental stage ?

(1) Sensory-motor stage

(2) Pre operational stage

(3) Concrete operational stage
(4) Formal operational stage

A type of learning in which students try
to learn by emerging new rule through
given learning material, is known as
what ?

(1) Rote learning
(2) Meaningful learning
(3) Reception learning

(4) Discovery learning

Out of the following which is fourth
level of Taylor's level theory of
creativity ?

(1) Expressive creativity
(2) Productive creativity
(3) Innovative creativity

(4) Inventive creativity

Out of the following which is not the
other name of Adolescence ?

(1) Transitional period of childhood
and adulthood

Problem age
Stage of stress, strain and storm
Smart age

2)
3)
“)

Characteristic of good adjustment is :
(1) Tolerance

(2) Lack of confidence

(3) Emotional unstability

(4) Irregular life habit

Level-2/4207



ArT- 11/ PART - I

[9]

[A]

A1 (R=T @ 3fISH) / LANGUAGES (HINDI & ENGLISH)

[ =<t/ HINDI ]

31 : =it goal & Gav 37 & [ qae afEd ey g

31.

32.

33.

AT B G O T B - I
HRE B ISR 8 7

(1) FHBH
(2) Gd9 FRD
(3) EYEN FHRb

(4) SAYHT FH

it gie § AYS fGehed JHm
(1) o

(2) SfeTasm

(3) geargarE
(4) JIW

Syt gfte § oyl fec
gifey :

(1) ForeT-Foe

(2) dR-AARA

(3) didi-afe

(4) a9i-uIes

Level-2/4207

34.

35.

36.

37.

Tg & 3T | ST [9eed Jaisy ¢

(1) AR + 39 = faameia
(2) 3 +TA = TA

(3) T + T =T

(4) TH® +T = aHI®D

= 4 § 59 fAew § ‘9 9= @
faQroei s foher T & °

(1) ™ & ‘@ @ = |
(2) S IEF ‘FH G G |
(3) ‘@ & 9 U % |

4) ‘T AT & I T

fra faees § g8 9 # SIE T8
g7
(1) qeamed

(2) FTA
(3) BERET

(4) SfErargre

o @t 3fte & 39w @ Bifex -
(1) -3

(2) TSI

(3) Ufessh-Jfrard

(4) TG

P.T.O.



[A]

38.

39.

40.

41.

fpe fhcq d ‘o IUET @ TENT g
g7

(1) SAraf~ieh
(2) afereA
(3) AT
(4) ST

o amm & ‘omem’ (faemed) afq @
SERT g © 7

(1) g9 oFR Fea a § T T &< |

(2) 99 B SN H AEGT @A
MRy |

(3) Tl & =Ry {6 98 ¥ * T
i B T R

(4) ¥ arear § f6 g W 6 )
Qe % gfte @ o e gig
(1) el — S, fas, TR

(2) S - FTH, U, R

(3) a8 — A=A, AW, HH

(4) RO — L, @, q
‘Areared’ drell foehed g

(1) A R el G TR |

(2) THS § A9 Tewn o 2

(3) ARG &R 91 9IS BT T |
(4) Heel I ITH AT

[10]

42,

43.

44,

45.

fore a@ # ‘FaRT @ SRR gaT © °

(1) T IR 99 AR @ @9 © 2|

(2) FHaar ot Rl s W@ R

(3) TH A &Y A & B |

@) T 90 g & N SEs ewd q
3 T

fpe famea # fowrt @fr @1 @ 7@
ger & ?
(1) foeg=
2) Rrer
(3) draEd

(4) 9g

‘THe | IR Y g - a9 § UgE
fopaT-fager @1 9% 3F@ Ff -

(1) YRETErES

(2) HIArED

(3) ifcrares

(4) A=

Thae § Sgaed o9 fohedl H ST
g
(1) S St

(2) ag-agy
(3) TG-St
ORI SIE
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[A]

[ 37350 / ENGLISH ]

Direction : Answer the following questions by selecting the most appropriate option.

46.

47.

48.

49.

50.

Choose the correct synonym for the
word given below :

Gallant
(2) Impolite
(4) Fearful

(1) Valiant
(3) Rude

Choose the correct modal.

Some people .............. ski better than
others.

(1) must (2) can

(3) could (4) should

Fill in the blank with appropriate
preposition.

Ipaid thebill .............. cash.
(1) in (2) at
(3) for (4) with

Choose the correct word for the sentence.
A man who 1s womanish in his habits.

(1) Arsonist

(2) Epicure

(3) Effeminate

(4) Fealty

Choose the correct antonym for the

word given below :
Bankrupt

(1) Penniless

(2) Insolvent

(3) Ruined

(4) Solvent

Level-2/4207

51.

52.

Fill in the blank with the correct
option :

doing the cooking, I look
after the garden.

(1) Beside
(2) However
(3) Besides

(4) Therefore

Choose the most appropriate form of

Indirect speech for the given sentence.

The teacher said to Hari, "Why did you

not do your homework yesterday" ?

(1) The teacher asked Hari why had he

not done his homework the

previous day ?

(2) The teacher asked Hari why he had

not done his homework the

previous day ?

(3) The teacher said to Hari why had
he not done their homework the

previous day ?

(4) The teacher said Hari that he had

not done his homework the

previous day.

P.T.O.



[A]

53.

54.

55.

56.

Choose the correct passive construction
for the sentence given.

We visited the zoo of Jaipur on last
Sunday.

ey

Zoo of Jaipur were visited by us on
last Sunday.

(2) On last Sunday the zoo of Jaipur

was visited by us.

3)

We were visited the zoo of Jaipur
on last Sunday.

C))

Zoo of Jaipur was being visited on
Sunday last by us.

Cooking is his hobby.

The underlined word is used as a :
(1) Verb

(2) Gerund

(3) Participle

(4) Infinitive

Choose the correct determiner.

................ knowledge is a dangerous

thing
(1) The little (2) Little
(3) Alittle (4) The few

Choose the correct preposition.

I had not slept or eaten anything

properly ................ two days.
(1) since (2) from
3) in 4) for

[12]

57.

58.

59.

60.

Fill in the blank by choosing the correct
option.

The Headmaster and the Secretary
................ present in the meeting.
(1) was (2) were

(3) was being (4) were being

Choose the correct form of verb.

Did you not ................ about the
world Atlas.

(1) knew (2) known

(3) know (4) knows

Choose the correct option for the

underline word.

Our parents have raised us to be a good

citizen.

(1) Brought up

(2) Brought by

(3) Brought out

(4) Brought down

Choose the word which 1is spelt
correctly.

(1) Commited

(2) Committed

(3) Comitteed

(4) Committeed

Level-2/4207
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[A]

HET -1/ PART -1l
Y AT/ GENERAL STUDIES

[ A ARG, dliche SARTEHCT R | 5T Td 1RSI / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]
& : [t gea & gav &7 & frg qaw o [AEe g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

64.

65.

=T e &l g Y

WE, SG, PJ, LN, IS, ?
(2) FX
4) EX

1) FZ
(3) EY

(G e = A 1 e ol | < G L

DHL, PTX, BFJ, .....
(1) CGK (2) KOS
(3) NRV (4) OVZ

Qzﬁmaﬁaﬂms,soo%,qhq@ﬁ
9 @9 20% gw g, AR a9 Ied
25% gi& g, d & 99 a1
SEeE fhel Rl ?

(1) 10,950 (2) 12,750

(3) 11,950 (4) 12,550

18,000 1 W 2 ¥ % 10% daAM® &<
¥ Tpghe T 9 |IERET S H SR
BT ?
(1) 150 &9
(3) 210 &)

(2) 180 BT
4) 316 W

14,500 &9 HERO 9 W 6 a9 #
21,460 9 B I &, TN B s X
B ?
(1) 4%
(3) 6%

2) 10%
4) 8%

Level-2/4207

61.

62.

63.

64.

65.

Complete the following Series :
WE, SG, PJ, LN, IS, ?
(2) FX
4) EX

1) FZ
(3) EY

Find the next term of the following

letter series :

DHL, PTX, BFJ, .....
(1) CGK (2) KOS
(3) NRV (4) OVZ

The population of a town is 8,500. In
first year it was increased by 20% and
in second year again increased by 25%,
then what is the total population after
two years ?

(1) 10,950 (2) 12,750
(3) 11,950 4) 12,550
What 1s the difference between

Compound interest and Simple interest
on the amount of Rs. 18,000 in 2 years
with the rate of 10% per year ?
(1) Rs. 150 (2) Rs. 180

(3) Rs. 210 (4) Rs. 316

The total amount of Rs. 14,500 with
simple interest in 6 years is Rs. 21,460,
find out the Rate of interest per
annum ?
1) 4%
3) 6%

(2) 10%
4) 8%

P.T.O.



[A]

66.

67.

68.

69.

70.

71.

Th PIeeR @ @l T AT 20
He, 21ﬁaw29rﬁa§m§w@aw
15 593 Ufgert Hiex #f & d Bad e
H G F BT ?

(1) 2,100 59
(3) 3,150 59

% fhebe A9 H, 6 Raanieal & ofd ™
e 36 dt) A} T @ ue Rawer A
16 ¥ T9T &, @ 99 Reenisd @
Ad @ g A & ?
(1) 24 (2) 30
(3) 36 4) 40

Rr=if S B O X

24, 60, 120, 210, ?
(2) 270
4) 500

(2) 1,890 T
4) 2,500 5

(1) 336
(3) 512

Th 99 TA1 T PN B AR B AU
6 :7%, 3R FX 4 H T 364 Rl A
g0 T B, A 9 H A A B

(1) 60 fRdEer  (2) 72 fRdieer
(3) 78 fRHEeT  (4) 84 fRHi/Ee
fhdl didfae AT ¥ GRANT &I
UOBSH %F&l 9T, TIME & FNJU @&l
19, @ PRIDE & &1 &al S ?
(1) QSJEF
(3) FEJSQ

(2) OQHCD
(4) TPMED

q deEet & g 3 : 5 ©, ¢ S
B 240 B, SRl & SRR F
3T ?

(1) 60
(3) 120

(2) 100
4) 90
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66.

67.

68.

69.

70.

71.

The sides of a triangular farm are 20 m,
21 m and 29 m respectively. How much
will be total expenses for cutting the crop
at the rate of Rs. 15 per square meter ?

(1) Rs.2,100  (2) Rs. 1,890
(3) Rs.3,150  (4) Rs. 2,500

Average runs of 6 players in a cricket
match was 36. If one player made 16
runs, then what is the average runs of
remaining players ?

(1) 24 (2) 30

(3) 36 4) 40

Complete the following series :

24, 60, 120, 210, ?
(2) 270
4) 500

(1) 336
(3) 512

The ratio of speeds, of a Bus and Car is
6 : 7. 1If car covers 364 Km distance in

4 hours, what is the speed of Bus ?
(1) 60 Km/h (2) 72 Km/h
(3) 78 Km/h (4) 84 Km/h

In a code language GRANT is written
as UOBSH, TIME is written as FNJU
how is PRIDE written in that language ?

(1) QSJEF (2) OQHCD
(3) FEJSQ (4) TPMED

The ratio of two numbers are 3 : 5 and
the addition of those numbers is 240,

what 1is the difference of those
numbers ?

(1) 60 (2) 100

3) 120 4) 90



72.

73.

74.

75.

76.

77.

frel | & 60% @ 3/5 AT 36 B, ar
& H A9 F eRm °

(1) 60 (2) 100

(3) 120 4) 150

gi& DRIVER = 12, PEDESTRIAN = 20,
ACCIDENT = 16, @ CAR =?

) 3 2) 6
3) 8 4) 16

A T B e} fpelt @M @ 15 [’ A
T HYd 2, el B aham 3@ 20 &
T g BT 8, A SThal 39 HH &
frw e & @M ®em ?

(1) 60 (2) 45

(3) 40 4) 30

qSH B TH U H oG S BR @
168 WM W @l 2| f9wm e B8R @
185 WM X 81 MU o & adf o
11§ @ W 3, X | § @ 8r
F AN TR WE W Bl 9 U F
fre Te® @S g E ?

(1) 41 (2) 42

(3) 48 4) 49
frfafed & @ H9-a1 o7 af 7 ?

(1) 1800 (2) 1900

(3) 1700 (4) 2000

fpell Widicd W # "go home" H "ta
na" HF ST "sweet home" FH "na ja"
%8l ST T "Sweet and Sour" & "pa sa
ja" e ST, A "Sour" FH HIS T BFM ?
(1) pa (2) sa
(3) padl sa (4) na

Level-2/4207
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72.

73.

74.

75.

76.

77.

[A]

If 3/5 of 60% of a Number is 36, then
the value of the number is :
(1) 60 (2) 100
3) 120 4) 150

If DRIVER = 12, PEDESTRIAN = 20,
ACCIDENT = 16, then CAR =?

1 3 2) 6
3) 8 4) 16

A and B together can do a work in 15
days, if B alone can do that work in 20
days. Then how many days will A take
to do same work alone ?

(1) 60 (2) 45

(3) 40 4) 30

Anil is standing at 16th position from
the left end in a row of boys. Vikas is at
18th position from the right end. Gopal
is 11th from Anil towards the right and
3rd from Vikas towards the right end.
How many boys are standing in this
row ?
(1) 41

(3) 48

(2) 42
4) 49

Which of the following is a leap year ?
(1) 1800 (2) 1900
(3) 1700 (4) 2000

In a certain code language "go home" is
written as "ta na", "sweet home" 1is
written as "na ja", "Sweet and Sour" is
written as "pa sa ja", then how "Sour" is
coded as ?

(1) pa
(3) paor sa

(2) sa
(4) na

P.T.O.



79.

80.

81.

(1) 10 Tt

) 12 feh

(3) 14 T

(4) 15 Tt

7 :20 e W o @ 9 g 4@ B
& o e e & T g ?

(1) 160° (2) 100°
(3) 260° 4) 120°

R T FF & IR W g8 ey
HIF-AT B 7

FYT :
(A) & T WS |
(B) 3B R @ ¥ |

s

(1) B W @ g
(2) FP TEN T T T
(3) FIE AT T T T
(4) FB T ™ 2|

Hie TR RTs ©

(1) Ui i & o
(2) Ufcerids #7ed & fow
(3) ™ 9@ & I & g
4) =l & forg

Level-2/4207

78.

79.

80.

81.

Two persons depart from their office
towards their houses. First person goes
8 Km in north direction and second
person goes 6 Km in East direction and
reach their houses, find out the direct
distance of their Houses ?

(1) 10 Km
(2) 12 Km
3) 14 Km
4) 15 Km

What will be the angle between minute
end and hour end in a Clock at 7 : 20 ?

(1) 160° (2) 100°
(3) 260° 4) 120°

Which is the correct conclusion based
on given statements ?

Statement :
(A) All leaves are roots.
(B) Some roots are branches.

Conclusion :

(1) Some leaves are branches.

(2) Some branches are not roots.
(3) No branch is leaf.

(4) Some roots are leaves.
Sohna town is famous for :
(1) Historical Lake

(2) Historical Palace

(3) Hot water Springs

(4) Gardens



[17] [A]

82. zRaPm # fha gsmEtE WHed (H“TI"T) 82. How many Administrative divisions are
g7 there in Haryana ?
(1) IR (1) Four
2) U= (2) Five
3 = 3) Six
4) qq (4) Seven
83. BRI & ™ 9 T 83. State animal of Haryana 1is :
(1) &1 971 (1) Black buck
(2) @ng E (2) Asiatic Lion
(3) i (3) Chinkara
(4) 9™ (4) Tiger
84. yam Rz ¥ ot & few @@ famie 84. Where Pratap Singh revolted against the
fepar o ? British ?
(1) Ve (1) Rohtak
(2) & (2) Jind
(3) ST (3) Ambala
(4) ferar (4) Sirsa
85. AIFH HAT "5[%\“3?{2{6 EI'ETV % ? 85. Where is the National Cancer Institute
situated ?
(1) Ham (1) Sampla
(2) #&w (2) Meham
(3) sEEn (3) Badsa
(4) FAER (4) Kalanaur

Level-2/4207 P.T.O.



[A]

86.

87.

88.

89.

90.

ghaen § ‘Y JErel-ae gerell i’
H S TGS BT © 7

(1) &g
(2) @l Hferp
(3) YT TAEdam
(4) |E Sedr

fore ST g@r Todl & |1y di @ 78
P & -

(1) gHud
(3) @

(2) Vedh
(4) qad

SIS I R | O R R 4 R
g SR R

(1) g
(3) wfest
AT H R, W U o &+
% foem 7ER

(1) ToamH
(2) A
(3) BIEER
4) R

TEIM e O 6 @ defd © 7

(2) T

(4) "AR®HST

(1) 3 =™
(2) romEd
(3) TR
(4) FUEE

[18]

86.

87.

88.

89.

90.

Who is the brand ambassador of 'Beti
Bachao-Beti Padhao
Haryana ?

Campaign' in

(1) Anu Kumari

(2) Sakshi Malik
(3) Kalpna Chawala
(4) Saina Nehwal

The district which does mnot share

boundary with other states is :

(1) Panipat (2) Rohtak

(3) Rewari (4) Palwal

The river, which makes border between

Haryana and Uttar Pradesh :

(I) Yamuna (2) Ganga

(3) Sahibi (4) Markanda

The city of Haryana, which is not part
of National Capital Region :

(1) Gurugram
(2) Sonipat
(3) Faridabad
(4) Hisar

Gurugram is related to which ancient
Guru ?

(1) Ved Vyas
(2) Dronacharya
(3) Parashuram

(4) Kripacharya

Level-2/4207
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[A]

AT - IV / PART - IV
QTR f3rer / PHYSICAL EDUCATION

3% : =i geal % g7 a7 % [ qae ST A% g

Direction : Answer the following questions by selecting the most appropriate option.

o1.

92.

93.

94.

‘TR AN ¥ 8 Wy ARawss A
FHear &7 foree wee B 7

(1) & (2) @

3) = R @) gead

IS Widd SHITH SIS 8RT Eferd
b1 2 2 R i o G [ T & S e e
ferg ® -

(1) feam #
(3) ofEmr ¥

(2) TeIH H
(4) G H

RICE & 'C' &l &1 ad 8 ?
(1) FRawa (2) &4
(3) o =@ (4) T

U AR BT ST T R B -

o @I @@ e ?

() ¥ @€ 9 Waws IR
AR

(i) YHiSe A Hise TS d UgH

(iii) XGT T 9 HHAK I SIS

(iv) Tl Mg @9 3@ 9 TR Jde
S RERIIRS RG]

(1) i, iii, iv
() ii, iii, iv
3) 1i,ii, iv

(4) ST | | B T

Level-2/4207

91.

92.

93.

94.

"Healthy mind resides in healthy body" is
said by :

(1) Aristotle (2) Plato

(3) James Williams(4) Woodworth

Women National Table Tennis Academy
by Petroleum Sports Promotion Board is

located at :
(1) Hisar (2) Gurugram
(3) Ambala (4) Sonipat

What 'C' denotes in RICE ?
(1) Continuation (2) Compression

(3) Contusion (4) Classification

Which combination of awards won by

Deepa Malik is correct ?

(1) Arun Award & Swawlamban
Puruskar Maharashtra

(i1) President Role Model Award &
Padmashri

(iii) Bharat Ratna & Karamveer Chakra
Award

(iv) Rajiv  Gandhi Khel Ratna &
Maharana Mewar Arawali Sports
Award

(1) 1i,iii, iv

(2)

(3)

4)

11, i1, 1v
1, 11, iv
None of the above

P.T.O.



[A]

95

96.

97.

98.

99.

100.

. wWieaeka wufte g @ gl s
2
(1) HA5H (2) K
(3) StIdTg (4) g
“HRd ART I=gd” AT ST ST
il & T B ¢
(1) =R §
(2) T &
(3) STERT IR H
(4) IRGE Higee F
TEgre fhe o # qrEn ofrar ® ?
(1) e (2) W=
(3) @4 (4) B
“ 7 H 3 AW 9 ST S
¥
(1) gha S
(2) R @A TR
(3) a1 e
4) & fars
AT bl J69 W ER I ah Sl
T8 fasg SfEARY @ g dern ©
(1) ss (2) Th
(3) I 4) @
JRE fen & FemE g uRem W
foEr e are Jente e ®

(1) T qedish 9 Feara qRvg

) T Qe oEYM a s
aREg

(3) Feeafemea I ST
(4) Ui reraes e aRee
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95.

96.

97.

98.

99.

100.

Spondylitis affects primarily :

(1) Vertebrates
(3) Forearm

(2) Stomach
(4) Knees

"Samatvam Yog Uchchyatey" this
definition of Yog is mentioned in :

(1) Ramayan

(2) Geeta

(3) Ashtang Yog

(4) Indian Constitution

Nitrogen is found in which element ?
(1) Vitamin (2) Protein
(3) Fat (4) Sugar

"Somatotropin" is also known as :

(1) Growth hormone
(2) Body type

(3) Fat hormone

(4) Pain killer

Total number of World Championship
conquered by Indian Men Hockey Team

so faris :
(1) Eight (2) One
(3) Four (4) Two

Controlling authority for Teaching and
Training of Physical Education is :

(1) National Assessment and
Accreditation Council

National Council for Education

Research and Training

2)

3)
“)

University Grants Commission

National Council for Teacher

Education



101.

102.

103.

104.

105.

I ASI6 P TRT HH B A S
2

(1) a9 ofdfus fasa @« @l

(2) AvEIET s T B

(3) Y SAiH T I

@) W i @ H

el #1 fRAST S8 dlear ®iegH o
ST ST ®

(1) aeEe wieam

(2) ITHY Sieat wiead

(3) @R g efam

(4) #gY ol = wArd wRfemm

‘gWE & IRUHEEY T8 FaerR &l
g I W FEeR B AN A
FASN B ST Feq & 17 3 i
fepam T B

(1) dFeE®

() Y 8|

(3) fvE wEs 3}

(4) U &N

frr @t & @ - CgedH” @
T 7&f ® 7

(1) AT wd Ay

(2) = @ T

(3) Aiel g FHUAHIRT

4) 9=Y o e

FAIh B 29 99 9 off I S R

(1) &hgar (2) forgar
(3) FEX 4) g
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101.

102.

103.

104.

105.

[A]

Johann Rosenzopf holds the credit to
introduce :

(1) Special Olympic World Games

(2) Deaf Olympic Games

(3) Youth Olympic Games

(4) Para Olympic Games

Feroz Shah Kotla stadium in New Delhi
is now known as :

(1) Vankhede Stadium

(2) Arun Jaitley Stadium

(3) Sachin Tendulkar Stadium

(4) Mansoor Ali Khan Pataudi Stadium

"The acquisition of new behaviour or
the strengthening or weakening of old
behaviour as a result of experience is
learning." This is defined by :

(1) Thorndike

(2) Smith

(3) Sigmund Freud

(4) Pavlov

Which combination is not a part of
"Shatkarm" ?

(1) Neti and Dhyoti

(2) Dhyoti and Basti

(3) Nyoli and Kapalbhati

(4) Bhramri and Traatak

Clavicle is also known as :
(2) Fibula
(4) Sleeve

(1) Scapula
(3) Collar
P.T.O.
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106.

107.

108.

109.

110.

1 | @ el aiRe R & 9eR
T A e Al T 7

(1) SIS STTE

(2) TANTT ST

(3) iR IS AT

(4) IR TTETHE STRTH

“rafte en TR Al @ ARk
AR B 17 I fhas A § Igd © 7

() T (TAEes WA Toha,
el U8 et SAFEIeH)

(2) fasq w@reeg Hed

(3) A9 GHE fahE HAerE

4) GEES B A9 gRegge 9%
R e oS wied

‘B B T B T B AGH § ¢

(1) @ st
(2) dio dio T4y
(3) HiUd a

(4) AEHRA BA

@ A § EErQied H OAET
Bl =Ry ?

(1) 13.5 | 17.5 79 9fq SHi@ex

(2) 12.0 § 15.5 79 a0 SHi@ex

(3) 102 & 12.2 9% ¥y e

(4) 155 @ 17.5 79 9 3dkiex

I 9 Has 9 7
(1) wE|
(3) &4

(2) ST
(4) @eq

Level-2/4207
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106.

107.

108.

109.

110.

Which of the following is not considered
as type of learning in Physical Education ?
(1) Cognitive Learning

(2) Experimental Learning

(3) Affective Learning

(4) Effective Learning

"Physical Education is a fundamental
right of every individual." It can be seen
in the charter of :

(1) UNESCO

(2) WHO
(3) MHRD
(4) SNIPES

"Straight from the hearts" 1is
autobiography written by :

(1) Sania Mirza

(2) P.V.Sindhu

(3) Kapil Dev

(4) Michael Ferrera

an

What is the range of haemoglobin in a
healthy women ?

(1) 13.5 to 17.5 Gpd

(2) 12.0 to 15.5 Gpd

(3) 10.2 to 12.2 Gpd

(4) 15.5 to 17.5 Gpd

The father of gymnastic 'Pehr Henrik
Ling' belongs to which country ?

(1) France
(3) Russia

(2) Germany
(4) Sweden



111.

112.

113.

114.

115.

116.

Fret & @ d-a1 Agasd & T 78
g7

(1) SMHACERE  (2) TSR
(3) frotaea (4) STemaTE
‘Pt ydig”  Er E

(1) weff gestfer

(2) ot eRfdg

(3) & g+

(4) FY T

A Aides 99 & Jo99 Jed 3 ¢

(1) olig Hed
(2) WERET U= e
(3) TX S T[T
(4) Sfo e
ThA AiweTee S # = g
de e &1 g
N-1 N(N-1)
(1) 3 () —
N NQ2-1)
3) 5 “4) 5

TR farem 9 @ grEises e
T

(1) (2) STEsiaE

(3) verdarg (4) FurfaE

i oTdfys AfMfa & JuH  oTeme
g

(1) AR T & FEaq

(2) d9MHE I

(3) RefaBE= famam

(4) A S FHRE
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111.

112.

113.

114.

115.

116.

[A]

Which of the following is not a quality
of a Leader ?

(1) Self Control
(3) Decisive

(2) Autocratic
(4) Optimist

Who is the author of "Yog Pradeep" ?
(1) Maharshi Patanjali

(2) Shri Arvind

(3) Kapil Muni

(4) Rishi Vatsyayan

The first Secretary General of Indian
Olympic Association was :

(1) Rajiv Mehta

(2) Maharaja Bhupendra Singh

(3) Sir Dorabji Tata

(4) Dr. Noehren

Formula to calculate number of matches

in a single knockout tournament is :

N-1 N(N-1)

(D > () —
N NQ2-1)

3) 2 “4) 5

Oldest school of philosophy in physical
education is :
(1) Naturalism
(3) Realism

(2) Idealism
(4) Pragmatism

The first President of International
Olympic Committee was :

(1) Pierre Baron de Coubertin
(2) Thomas Bach
(3) Demitrios Vikelas

(4) Juan Anatanio Samaranch

P.T.O.



[A]

117.

118.

119.

120.

121.

IO 8 3999 FHedwm B :

(1) = (2) FTH

(3) =& (4) AeH

B gfear g7 W 2020 B A
() TEed s (2) g H

3) @M@ §  (4) Ufedwn §

‘U TE g0 WEAH Uk oSl AW @
ferAfIaT | ET B THAT R 17 T8 B
R 81T ©

(1) W07 gfeRfmar o

(2) HiH AlHeTSe TR I

(3) HtHeMSe iR T

(4) TSE Al gfefar

Hepreh AT FHEAd ¢ -

(i) 9g SR g AT

(ii) S & gamd I

(iii) ST €& BRI J@Ra U
(iv) SUE ¥ § Hig ol

(1) i, ii, iii
3) i, ii
(4) IRET § F s Tl

TEbal § Sed I i AT B
(1) 155-165 9 (2) 115-125 Ui
(3) 125-135 Gi (4) 135-145 Uig
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117.

118.

119.

120.

121.

Inhalation in Pranayam is called as :
(2) Kumbhak
(4) Traatak

(1) Poorak
(3) Rechak

Khelo India Youth Games 2020 will be
played at :

(1) Guwahati
(3) Gwalior

(2) Pune
(4) Patiala

"A single bad performance can put a
good team out of tournament." This
statement is applicable in :

(1) League Tournament

(2) Progressive Knockout Tournament
(3) Knockout Tournament

(4) Round Robin Tournament

Contagious disease are called :

(i) which spread through air

(i) which spread through water

(ii1) which spread through physical
contact

(iv) None of the above

(1) 1, ii, iii

3) i,1i

(4) None of the above

Bantam weight category in Boxing is :

(1) 155-165Lbs (2) 115-125 Lbs
(3) 125-135Lbs (4) 135-145 Lbs



122.

123.

124.

125.

126.

AT ST T ARG R

(1) TFouHoTodMEoudo, Tfear &
(2) THoUHodMEoHos0, TR
(3) HoUdouq Rfggy, T3 Rl o
4) w, T3 Rl d

el & INX § o STERG aod &4
H § BN-AT ST GEET BT & P

(1) b

(2) wiggH

(3) dewida

4) sEgUF

IR ‘T $Rd T EEAT H GAuEH
SUAT fhar o -

(1) %F g ®T 51

(2) &7 &N

(3) Y@ EW

(4) e R

TEq HH-H I § ol § 7
(1) ¥ IERE

(2) TN AERA

(3) PRl aERE

(4) Slo To To FERH

TR &Hal I A9 g WP IUhl
T A R

(1) TEHRET

(2) SEAMHRET

(3) WA

(4) THFIHAHET
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122.

123.

124,

125.

126.

[A]

National Dope Testing Laboratory is

situated at :

(1) NSNIS, Patiala

(2) LNIPE, Gwalior

(3) JLN Stadium, New Delhi
(4) AIIMS, New Delhi

Which Drug helps in reducing water
weight in body of wrestler ?

(1) Cocaine

(2) Steroids

(3) Metformin

(4) Diuretics

Phrase "The Drive to Strive" was first

used by :

(1) Crooks and Stain
(2) Sage

(3) Alderman

(4) Pavlov

Rubella is spread by which virus ?
(1) Para virus

(2) Toga virus

(3) Mixo virus

(4) D.N. A. virus

Which instrument is used to measure
vital capacity ?

(1) Spirometer

(2) Dynamometer

(3) Stethoscope

(4) Sphygnomanometer

P.T.O.



[A]

127.

128.

129.

130.

131.

132.

|9 2019 T SNSEE SAicies @it
BRI %A Ued JAlrYE a8 S ARG

H &N B TS S g Ee ©
1 7 ) 8
3) 9 4) 10

Uit 389 H Gy fh9 @ & 8 7

(1) ®egsl 2) fries

(3) @’ (4) ddiee

T F IR W & S arel e ©
(1) dags 2) R

(3) HEET (4) T

9 fafhe @ 39 W § St W1 S
2

(1) fFer R

(2) HE AR

(3) ViR @

(4) e R

U R Rfewm § ufoed @&t I ar
yfeRNfaT &1 A o B 7

(1) % 39" e+

(2) U 9 Ged

(3) fdaates @

(4) IR FY JsHved

32 & & Fa ferer § @AW urEd
e & @ T fen S

(1) 8,16,24,32 (2) 4,8, 16,32
(3) 8,9,24,25 (4) 8,16,17,25
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127.

128.

129.

130.

131.

132.

Total number of Indian till 2019 who
has been conferred Olympic Award by
International Olympic Committee ?

1 7 2) 8

3 9 4) 10

Pole Dive is related with which sport ?
(1) Kabaddi
(3) Kho-Kho

(2) Gymnastic
(4) Polevault

The vessel which carry blood towards

heart is :
(1) Alveoli
(3) Capillaries

(2) Veins
(4) Bronchi

Wax therapy is also known as :

(1) Cripto therapy
(2) Cryo therapy
(3) Paraffin therapy
(4) Physio therapy

Name the event played annually at
Roland Garros stadium :

(1) French Open Tennis

(2) Euro Cup Football

(3) Wimbledon Tennis

(4) Uber Cup Badminton

In a draw fixture of 32 teams common 5th
seeded teams will be posted on these
stations :

(1) 8,16,24,32 (2) 4,8,16,32

(3) 8,9,24,25 (4) 8,16,17,25



133.

134.

135.

136.

137.

fea fopep A 1 vENT fRar o R

(1) s ¥ (2) T S &
Q) T= @ H (@) g H

af¥es &7 § IR FIET e TR
forar T B :

(1) A & sifew e J

(2) RER % oiftw qar o
(3) TV & fadig qare |
(4) BT B ifew Tre A

TRE fer & P we AN #:;

SR 9 R

(1) |9, Je fewd, S, HHRsw
o

(2) Sga foban, ST, |, ge R

(3) |, ST, Jed e, Su R
(4) |9, UEEAl, e few, HARSw
o

21 <M FH ApeASe TR § ued
[We # 9 T W A @ g @
T

(1) 20
(3) 01

@) 11
4) 05

Rearet § eeufr € oMY w1 99Ed
g7

(1) foardl & oifediom &t &9t

(2) T | oo @1 st

(3) et & o @t P

(4) Raarst & S @0 SfdeRan
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133.

134.

135.

136.

137.

[A]

Hitch kick is the style used in :

(1) Football (2) Kick boxing
(3) LongJump (4) Wrestling

World Immunization week is celebrated

every year on :
(1) Last week of June
(2) Last week of December

(3) Second week of January
(4) Last week of April

The right sequence of skill lesson plan
in Physical Education is :

(1) Assembly, Main Part, Introduction,
Recreational Game

2

Lead up Activity, Introduction,

Assembly, Main Part
(3) Assembly, Introduction, Main Part,
Lead up Activity
“)

Assembly, Introduction, Main Part,

Recreational Game

In a Knockout Tournament of 21 teams

total match in round one will be :

(1) 20
(3) 01

@) 11
4) 05

What do you understand by Hypoxia in
athlete?

(1) Deficiency of oxygen in athlete

(2) Addition of oxygen in athlete

(3) Deficiency of water in athlete

(4) Addition of water in athlete

P.T.O.
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138. 9M4 gha & ffay =Ror 9w 4 T’ 7%

139.

140.

141.

% @&l A H g
(1) 99, Tau, FhamEen, e

(2) TEUA, A9, TIEHAT, HaNrae
(3) TReNRTaRen, ag%hd], A9, Tau

(4) TR, RN, SeH, A4

e A St & =9 B ?
(1) 42 fdder (2) 39 MR
(3) 38 FErer  (4) 40 fielHex

TSR e @Y g €9 er & oy
2019 % ETER 9@ ¥ fhE @9 &Y
eI febam T ?

(1) Brbe T gl

(2) Fagel g fa

(3) wEfHved T qHdfead

(4) qFe g FRi

FAfCRT &Y I HEo g

| a I

IL @ b dfeisrd

NIMSER] c aEhedrd

V. FHRE d Fegdl
I O I IV

() a b ¢ d

2) ¢ d b a

B3 d ¢ a b

4 b a d c
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138.

139.

140.

141.

Identify the correct sequential stage of
human growth from early to later stages :
(1) Infancy, Childhood, Adolescence,
Adulthood
Childhood,
Adolescence

) Infancy, Adulthood,

(3) Adolescence, Adulthood, Infancy,
Childhood
Adulthood, Adolescence, Childhood,

Infancy

“)

Diameter of a Table Tennis ball is :
(1) 42 mm (2) 39 mm
(3) 38 mm (4) 40 mm

Rambir Singh Khokhar and Sandeep
Gupta won Dronacharya Award-2019 in
which Sports ?

(1) Cricket & Hockey

(2) Kabaddi & Table Tennis

(3) Badminton & Athletics

(4) Boxing & Wrestling

Match the List and choose correct

combination :

I.  Deadball a  Wrestling

II. Lona b  Volleyball

IIl. Libero c Basketball

IV. Greekoroman d Kabaddi
I I m 1v

(1) a c d

2) ¢ d b a

3 d ¢ a

4 b a d c
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142, Tl deen @ e uRee T @ 9 142. Pingali Venkaiya holds the credit to
S R design :
(1) e e Jee Kiegw, T facl! (1) J. L. N. Stadium, New Delhi
(2) 9RAT ©F WD B ARl (2) Logo of Sports Authority of India
(3) ARG & &9 A ?i[ﬁqﬁ"—&l (3) Uniform of Indian Hockey team
(4) 9RAE ST @9 (4) Indian National Flag
143. Jd U AN a4 = i WIE?T &l 143. Pull ups exercise primarily helps in the
frerer 2 & i & 9 development of these muscles :
(D) TS 9 ?ﬁﬁﬂ'ﬂ (1) Deltoid and Trapigius
2) EH'I@'@‘H q ﬁ'&ﬁ‘ﬁﬁ'ﬂlﬁ (2) Quadriceps and Gastronimius
3) %’qﬁi‘T g ARERIq (3) Hamstring and Sartorius
(4) Qe 7 WitEg (4) Soleus and Peroneus
144. ‘Iz 3 guRafq ¥ afoerd” Feam @ ¢ 144. '"Perturbation of the body's homeostasis"
is known as :
(1) fafqen (2) = (1) Dilemma (2) Anxiety
3) @ (4) SRR (3) Stress (4) Motivation
145. €M #H TAREN & HE ST 145. Competitions conducted within four
iR wear € walls of an institution is called :
(D) "5@'{ Fﬂ%@ﬁlﬁﬁ (1) Indoor competitions
(2) STM3ESK Flﬁl?ﬁﬁfﬂfqv (2) Outdoor competitions
(3) T (3) Extramurals
4) W (4) Intramurals
146. UAE(e UGS & e M d deg 146. Anabolic steroid is related with which
g7 Hormone ?
(D) W ELIS] (1) Luteinizing Hormone
2) IREE A (2) Testosterone Hormone
(3) RS B (3) Lipage Hormone
(4) Yufw MW (4) Pepsin Hormone

Level-2/4207 P.T.O.
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147.

148.

149.

150.

e Rrera & @ & fer & &9
7& S S § 7

(1) orgwa @ s

(2) StfaRad ol # R

(3) qEgHa i R
(4) T & Siew @ s

4R Hgfed B A U8 EiEeR & 3T
T R

(1) A i wEeR

(2) 99 T HER

(3) did YeE wER

@) I W FER

e & & #F-a ofrm & w78
g7

(1) foparege = |

(2) G & g

(3) g¥E & fEw

(4) T B

‘g, R ol died” # qanen feae
I T ?

(1) i

(2) JERMER

(3) TR

(4) TERER

[30]

147.

148.

149.

150.

Which theory is not considered as
theory of play ?

(1) Experience theory

(2) Surplus energy theory

(3) Anticipatory theory

(4) Play is life theory

Slow twitch muscle fibers are also
known as :

(1) Red muscle fibers

(2) White muscle fibers

(3) Yellow muscle fibers

(4) Brown muscle fibers

Which among the following is not a law
of learning ?

(1) Law of execution

(2) Law of exercise

(3) Law of effect

(4) Law of readiness

Searching of "Truth, Beauty and
Goodness" is the aim of :

(1) Naturalism

(2) Idealism

(3) Pragmatism

(4) Realism

Level-2/4207



OR & @
Ife T A SIET Wl Bl MR T & Al 3BT SR Tod
HHET ST |

6. Answers to questions in answer sheet are to be given by

darkening complete circle using Black ball point pen as

shown below :
O @ ® @

The answer will be treated wrong, if it is marked, as given below :

©OR &>

If you fill more than one circle it will be treated as a wrong
answer.

10.

11. U=

12.

13.

14.

15.

16.

17.
18.

19.

20.

. % B W—gﬁﬂrbl # 39 o & forg & E @relt SFE W & &Y | (Rough work should be done only in the space

provided in the Question Booklet for the same.)

. T IR Bad OMR TR U6 R 81 3ifdhd &Y | 30 IR &IHYdd 2Afhd T | IR g =g 29d Joidh (ABE Fogs) Bl

T g ® (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

LTS T & forg Ry g aR et § 9 3fa fadwer & fw OMR STR 956 W &ad Ud gd @I & T Re Pl ard

wrge 9 9 T Th IR SR 3ifd BT B 971G I dGoll el off bl 8 | (Out of the four alternatives for each question,
only one circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer
Sheet. The answer once marked is not allowed to be changed.)

el gHARad o 6 59 SR 45d B Hiel 9 WY Td I R BIg 3 M9 7 M | 3ngedi =1 gl SR U3d
# feiRa v @ srfaRad e=u 7 foRd | (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray marks on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer
Sheet.)

—gRAPT T IR TS HT SAFYED JANT By, Fifd B aRRefT # (ge—gRaer wd SR w96 & wAie 3 e
B! RAT BT BredR) T YT YRAST T ST T8l HYATs WG | (Handle the Question Booklet and Answer Sheet with
care, as under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

THA—gRTHT /IR TFF H Y Y HHG BT el el WP A WINER dic H A | (The candidates should write the

correct Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

mﬁﬁﬁmm/¢aﬁmwaﬁ?ww$aﬁﬁmﬁﬂﬂwaﬁm—w gfad a1 gRfIRad HITST Bl
i, ISR, Hi9sd BIF, Soldci~ih sqmwmﬁﬂﬂmwaﬁﬂmﬁaﬁéﬁnﬁmwmﬁwﬁﬁél
(Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic
device or any other material except the Admit Card and Identity Card inside the examination hall/room.)

TfId gRT 8 oM W YIS gl 3T gawr dre ([ o) 3R uga™ ux Wi | (Each candidate must show on
demand his/her Admit Card (Roll No.) and identity card to the Invigilator.)

P efetd AT Tded B A SH‘T% P 77 PIE el JmuFT I |7 B | (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

HRIRT TAdETH BT AU IR UAB QU 1 v AR A€ R SEART BRAER [Py 97 angefi uden gfa 7€ v | Ay
el apell 1 A IR EWER A1 W BWER el by A1 g AMI SN {6 S99 IR U3d 8] dlerl & AR I8
JTfad | &1 AT AT STYT | OMR SR U3d § FuiRa o w | anafdial gmr 9 w19 & o &1 foeme
wrrmmélw@m%wﬁwwmmmwmﬁswﬁﬁwﬁﬁwﬁmmﬁwﬁaﬁ
qEAT 7A@ E|§T‘f AITTH §8d ®H | (The candidates should not leave the Examination Hall without handing over
their Answer Sheet to the Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the
Signature Chart second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case.
All candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which should
be properly inked i.e. they should not be either over inked or dried in nature.)

golagid / gxcarferd URderd &1 SUANT afSid & | (Use of Electronic/Manual Calculator is prohibited.)
et Bt # MmeRvr & forg, apwneff fyarforast # & 13 ufhan / feen—fder g 98 & it el vd fftgst & Ry s < |
31‘3’%1?[ R e IOl e o ) B Re T IR IO ot R ol 1 o | AR 8FTT| (The candidates are governed by

Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

A BT H U DT 3R SR Y=Ib BT I 9T AT T BN | (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

Wl T 8 W, gl Fe /B Bled W Yd SR UFG HE-UUdAS BT @A WU | gl o W s
W—W P o ST A& €| (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator
in the Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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